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1. If the film features violence, it is not likely to be a 

magnet for large audiences. 

 

A) The film that focuses  on violence is likely to receive 

little popularity. 

 

B) Should violence be central to the film, it most likely 

won’t achieve much popularity.  

 

2. The patient  is recovering only slowly from the 

operation; apparently progress is being hindered by 

poor diet.   

A) Obviously the recuperation period after surgery will 

be a long one for the patient due in part to his lack of a 

proper diet.   

B) Obviously the healing period after surgery is far 

behind the projections, for the patient lacks a proper 

diet.  

 

3. People from the Far East are knowledgeable than 

Westerners and also more experienced in economic 

development.  

A) People in the West don't get as informed as do 

those in the Far East, and further, are less 

accomplished in matters concerning economic 

development.  

B) Education system in the Far East gives people there 

a better grasp of economic development as well as 

opportunities to gain more experience compared to 

those in the West. 

 

4. We have to admit that there are both joys and 

pressures that inevitably accompany the bringing 

up of a disabled child. 

A) It is not uncommon to see people admitting the pain 

and pleasure inherent while bringing up a handicapped 

child. 

B) There are not just delights but also strains that one 

is bound to encounter when bringing up a handicapped 

child.  

 

 

5. It's hardly surprising that unemployment has 

been a paramount issue in so many recent election 

campaigns. 

A) Understandably, the majority of election campaigns 

in recent times have centered upon one major issue, i 
unemployment.  

B) As expected,most election campaigns in recent 

times have centered round only one principal issue, 

unemployment. 

 

6. If there is only one name to be remembered for 

his contributions to social harmony in Turkey, it is 

definitely that of Barış Manço.  

A) There is no other person than Barış Manço to whom 

we should be grateful for his contributions to social 

harmony. 

B) Barış Manço is only one of the people to whom we 

should be grateful for his contributions to social 

harmony. 

7. The peace talks lasted for longer than experts 

had expected as, for some reason or another, there 

were objections from both parties. 

A) There were objections from both parties,so the 

peace talks went on longer than anticipated.  

 

B) It was on account of there being so many objections 

that the peace talks went on for as long as expected. 

 

8. The principal should have known better than to 

have left a senior student in charge of the class if 

only for a lesson. 

A)  It was quite considerate of the principal to appoint a 

senior student to keep an eye on the class for as 

long as a lesson. 

B)  Though it was only for a lesson, it was foolish of the 

principal to make a senior student responsible for 

the monitoring of the class.  
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9. To be honest, no one was expecting Russia to 

stand up for Syria so openly. 

A)  Frankly, it came as quite a surprise when Russia 

was so explicitly on the side of Syria.  

B)  Honestly, that Russia was so explicitly on the side of 

Syria was not something unexpected. 

10. If one presenter is to introduce the main 

speaker at the conference, then he had better 

find out something about his recent activities. 

A)  One presenter needs to familiarize himself with what 

the main speaker has been doing of late when 

assigned  the job to introduce the speaker at the 

conference. 

B)  When one presenter introduces the main speaker at 

the conference, he has to get hold of some 

information about what the speaker’s  recent 

activities are and refer to them. 

11. Too many of the things that take place in a 

family-run business depend upon the boss's 

discretion. 

A) The boss is not in a position to assert what he says 

B) The boss has far too big a say in what happens.  

 

 

 

12. The reason behind the coach’s refusal to make 

a statement to the press is uncertain, but some 

believe that he is playing for time. 

 

A) It's not clear why the coach has avoided making a 

statement to the press so far, but presumably it's a 

question of delay tactics.  

 

B) The coach continues to find excuses for not making 

a statement to the press, but before long he will 

presumably have to do so. 

 

 

13. China's determination to put people in space 

dates back to the 1960's. 

 

A) China has been resolutely sending people into 

space ever since the early 1960s. 

 

B) China has been set on getting people into space 

ever since the 1960s. 

 

 

 

14. He's one of those people who is always ready to 

promise help but rarely keeps his promise. 

 

A) He's like lots of other people; he promises to help 

but rarely does. 

 

B) He's the sort of person who is good at promising 

help, but almost always fails to do so.  

 

 

 

 

15. Most belive that Michael Jordan got to the top at 

last because there was literally nobody standing in 

his path but it was not the case. 

 

A) Many believe that as there was absolutely no one to 

prevent him from doing so, Michael Jordan finally made 

it to the top. 

 

B) To many, if there had been any serious competition, 

it's not likely that Michael Jordan could have made it to 

the top. 

 

 

 

16. Zoom is one of several tools available to 

scholars for delivering their lectures.  

 

A) Zoom can be cited as just one of the ways through 

which scholars can deliver  their lectures. 

 

B) Zoom is listed among the ways which scholars resort 

to while planning  their lectures. 
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